




1b)
- Solutions to a problem is represented as individuals in a population (individuals may e.g. be bit-strings)
- Pick the best individuals from the population
- Perform Recombination/Crossover
- Perform Mutation
- New population

In a robot, a walking pattern can be represented as bit-strings. For instance, an actuator in extended configuration can have value 1, and in contracted 
configuration it can have value 0. An array of such leg-configurations will represent a walking pattern. The robot uses a genetic algorithm to explore different 
walking patterns, until it finds a pattern that makes it go forward.

1c)
Haptics. The surgeon does not feel what is goin on in the other end. The DaVinci system has stereovision, which provides depth to the image, but since the 
surgeon does not feel, it is more difficult to know how hard he is pushing towards the tissue when operating.

This can be solved by 
- Using force sensors (which are currently too large and too expensive)
- Estimating the forces using data from the joints (current research)

1d)
Sensing the world:
Camera / Stereo camera 
Contact sensors 
Sonar
GPS
Compass
(Where is the robot in the world, and are there any obstacles in the way)

Sensing itself:
Potentiometers
Accelerometers
Gyroscopes
Thermometers
(How fast is it moving?, How's the battery status? How are the joints configured?)
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